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1. [38] ®

1

4% +log,8=2+3=5

2. [38] ©

lim f(z)+ lim f(z) =—1+2=1

r—0— r—1+

3. [B8] @

5 .

N —ak)=20 50 g 5,05
k=1 6 2

—1)?=a*+ 3 -20+8)+2=(a+3)°—2a8—2(a+3)+2
2) 2:3+2=94+4—6+2=9

5 [BE] ®
(ANB)c Xc (AUB)
{2,4}c xc{1,2,3,4,5,6, 8}

ety A X9 Jae 2° = 3270

6. [88]1 ©
1+a=0, a=—1
r 3—1_1.m(a:—1)(x2+x+1):§:b

a+4b:—1+4><%:—1+6:5

7. ("] @
A7t 0OABO] Holot A7H 0ACO] Holl Zoalw A4 0ASH & BAlo|o] 7 aje}
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= |5—3t|=
1*+ 3 1°+3°
5—3t=+5, 3t =5%5
Tt 1=0 & t= oln tt PAolnR r= - lojch
8. [A8B]1®
f(z)=2"—2az+3, f'(3)=9—6a+3=0
a=2
f'(x)=x2—4a:+3=(x—1)(x—3)
mhebA] o= Lol S A0 b= f(1) =S - 24341 =
o 1 _13
a+b—2+3— 3
9. [AB]1 ®

1<x<2, 4<z<boA |flz)|—f(z)=0
2 <z <4A [f(z)|—f(z)==f(z)— flz)=—2f(z)

S s = stebae =2 [ rlare= (-2 T 420 =4
4 -

PEEET
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10. [9]

y =200182 FHS y— (K +4)=2k(z— k)2 2o HS AYo=
— K —4==2k

=4, k=%2

wheta B WAL y=+4zo]n FHL (+2,8)0|ct.
et A0 ™A o] H4do] 12 & AAo=z Rl =3Ol Hol=
2 2
1
22/ {(:I:2+4)—4x}dw=2 l383—2:1624-43!:} =2(§—8+8)=—6
0 3 0 3 3

11. [BE] @
4r+3=T7, z=1
f(7)=1-5+6=2
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12. [BE] @
g(z)=2Bx+1)+5=62+7
y=6x+7, r=6y+7

1 1
y:g(:c—ﬂ, h(x):E(x—ﬂ

13. [FE] ©
a+b=109 FeE (4,6), (5,5), (6,4), (5,6), (6,5), (6,6)2] 67Fx]o]c},
1
ol 0 =691 A9 (6,4), (6,5). (6,6)9) 370l pot e o= ol
14. [BE]
P(z)=(2+1)Qz) + 2> +2
P—-1)=(-1)*+2=3
15. [B€] ©
ab = (logs2)(logy5)= logsb
loggp0= Eo] 39 21= H HSIH
1 50 = 108350 logs2 + 2]logsd _ a+2ab _ a+2ab
0860°0 = 70060~ 2logs2 + log3 + logd  2a+1+tab  2atabtl
16. [AE] ®
yza(l—sin :E)+2asina:—2
y=—asin2x+2asinx—2+a
sinz =t& X|gsIH
y=—at’+2at—2+a (1<t <1)
y=—al?—2t+1)+2a—2, y=—alt—1)*+2a—2
a>09 o FUAZe t=19 @ 2¢—20]22
1
2a—2 —1 CL—E
a=09 = y=2a¢—20|B2 20a—2=—1, a——OIUE ASHA] U=
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17. [4€] @
370 gojl M3 2o o Mol AL 3749 Zo| BE Aol 30| & &
2740] ol £, 1719] Fo| #4al

37H0] o] BT WAl AL (

279] go| £, 17]9] Bo] MAQ HLE ,C,x,C, = 1874

o]F & g9 A4t 07 A ALE (5.6, 7)9 17}A],
ol% 3 zo| 747t 1719 73 9+ (1,5,6), (1,6,7), (2,5,7), (3,5,6). (4,6,7)

(4,5, 7)9] 67}x]o|B2
(1+18)—(1+6) 12
1+18 19

Fole gL

18. [AE] O

(1) z<—3
—2(z+3)—z+2<8
—3x—4<8, x=>—4
—4 < xr<-—3

(2) —3<z<2
2(c+3)—xz+2<38
r+8<8 <0
—3<x=<0

(3) x =2
2(c+3)+zx—2<38

3r+4 <8, azgé

o] A9x a7t qirt.
oebq A4 29 jas —4, =3, —2, —1, 09] 57c}

19. [32] @

on f)+f(2)=120122 f(1)=5, f(2)=7 = f(1)=6, f(2)=6 ==
f()=17, f(2) =50t}

(1) f(1)=5, f(2):7d 7

f(3)=6,7,8,9, f(4)=8,97} 7F53t22 4 <2 =87}

(2) f(1)=6. f(2) =6 3L

f(3)=1,8,9, f(4)=7,8,97t 7F53t22 3x3 =97}

3) f(1)=7. f(2) =59 AL

f(3)=28,9, f(4)=6,7,8,97t 7F53t22 2x 4 =87}

ot fo] Jh4e 8+ 9+ 8 =257}x]o]ct
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20. [AB] @
(z—2)2 =P —dr+4= (:c+yi)2—4(x+yi)+4
=2?+2zyi— i —dr—dyi+4 =2 —dz+4—o* +2y(x — 2)i

ty=+(z—2)ol82 & A& AH y=z-28 AM y=—(2—2)& et}
@80 (z+2)°+y" =40 g AN y=z—23 AH y=—(2-2)2F x| go
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